Mlultiplying and Dividing Powers of Ten

o

Salve each problem.
547 2100
This is Uhé e i savang: o * 1
547 = (L= 10 10 % 15 LG+ 107
And hezmase the base is 1) you can just move “nriill,al 5] 1I|¢_s.¢m= _u. v, Uhaly illi.l:.ﬁ:|-|'||' :
the devimal 4 places to The right 10 solve, muving the decimal right, you move it lefl -
54700, A3h .
5.47 = 10° = 54,700 '
4.
1) &5=10 ) 24892 = 10 .
3 128+ 107 4) 49E.32 = 107 -
1.
&) 41595+ 10° 6) 528 = 107 .
)
Ty OSRZ61 100 8) #.15= 10
hLIS
@y 4.7+ 10 10y 9.84% = 107 1.
12,
1) %969« 10 12 6.72=10¢
15
13) 61423+ 10° 14) 144717 = 107 L
| =8
15) K844+ 107 16) 795 = 10 ,
.
17 614+ 10° 15) 3.595 = 10 "
i3,
1M 66,5+ 10° ) 743 = 10 .
i,
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